DIVISION WITH A REMAINDER (H - SET 4)

DIVISION WITH REMAINDER Rame:
Time: Score: y—
391) 14371 = 5 = 106) 57215 +9 =
302) 1837 +2 = 07 33525 + 7 =
303) 16334 =5 = 08 1325 +2 =
30 41714 + 10 = 109 89055 +9 =
35 5351 =2 = 10 2090 = 1 =
396) 24421 = 9 = a1 27971 =10 =
397 34552 = 5 = 12) 44731 + 10 =
395 26280 = 6 = 413) 43417 =5 =
399 27411 = 5 = a4y 12757 + 10 =
00) 10643 + 2 = 15 25480 + 4 =
w01 32747 =~ 5 = 16) 29934 + 5 =
102) 33363 =5 = un) 57893 7 =
103) 86 =5 = 15 6168 = 3 =
0149951 =8 = 196316 + 8 =
105) 51733 =7 = 120) 80028 = 10 =
Mathematics: Division - Level T - Horizontal - Set, 4 15 cul


https://www.workulum.com

